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EGN 3420 FINAL Name

Problem 1 (20 pts)

1. Given the system of equations below, find the solution x = A™b . Use either
method discussed in class to find the inverse A™.
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EGN 3420 FINAL Name

Problem 2 (15 pts)

Find the value(s) of K for which the equations below have a unique solution.

X ¥ y + 2z = K
3x - y + 2z = 7
4x + Ky - 2z = 0
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EGN 3420 FINAL Name

Problem 3 (15 pts)

Find the value(s) of K for which the solution to the system of equations below is
x=1, y=-2, z=1.

X + Yy + z
3x - (1+K)yy + 2z
4 + y - 2z
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EGN 3420 FINAL Name

Problem 4 (20 pts)

In the system of equations below, are there any arbitrary unknowns? If yes,
without solving for any of the variables u, x, y, or z, determine if y or z can be
arbitrary. Show all work.

u + X + z
u - X + 2y

X - y - 3z
u ik y + z
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